9 von 9 bleibt O
8 von 9 bleibt 1
7 von 9 bleibt 2
6 von 9 bleibt 3
5 von 9 bleibt 4
4 von 9 bleibt 5
3 von 9 bleibt 6
2 von 9 bleibt 7
1 von 9 bleibt 8
8 von 8 bleibt O
T von 8 bleibt 1
6 von 8 bleibt 2
3 von 8 Dbleibt 3
4 von 8 bleibt 4
3 von 8 bleibt 5
2 vou 8 bleibt 6
1 von 8 bleibt 7
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Dad Gind von Gins,

7 von T bleitt O
6 von 7 bleibt 1
5 von 7 bleibt 2
4 von T bleibt 3
3 von T bleibt 4
2 von 7 bleibt 5
1 von 7 bleibt 6
6 von 6 bleibt O
5 von 6 bleibt 1
4 von 6 bleibt 2
3 von 6 bleibt 3
2 von 6 bleibt 4
1 von 6 bleibt 5

5 von 5 bleibt 0
4 von 5 bleibt 1
3 von 5 bleibt 2
2 von 5 bleibt 3
1 vou 5 bleibt 4
4 von 4 bleibt 0
3 von 4 bleibt 1
2 von 4 bleibt 2
1 von 4 bleibt 3
3 von 3 bleibt 0
2 von 3 bleibt 1
1 von 3 bleibt 2
2 von 2 bleibt 0
1 von 2 bleibt 1
1 vou 1 blefbt O

Beifpiele jur Uebung und Priifun g,
Wag bleibt fiie ein Reft, wenn man abyieht:

fom2% | 4vn6? | 5vom 879
1 von 3 2 6 von 6 ¢ 2 von
2 von 3 ¢ 1 vou 7% 4 von
1 von 4 2 3 yon 7 ? 7 von
3 von 4% 5 von 7 2 5 von
4 von 4 2 2 von 7 ¢ 3 von
2 von 4 2 4 yon 7 2 6 von
1 von 5 % 6 von 7 2 8 bon
3 von 39 T von 7 9 1 von
5 von 5 9 1 von 8 ¢ 9 von
2 von 5 ? 8 von 8 2 1 von 4
4 von 5 ¢ 2 pon 8 ? 5 von 1
1 von 6 2 7 von 8 ? 3 'von 1
3 von 6% 3 von 8 ¢ 8 von 1
5 von 6 2 6 von 8 % 4 von 1
2 vyon 6 2 4 von 8 2 6 von 1

| 2 von 10 ¢
7 von 10 ¢
9 von 10 ?




